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                                            ​INSTRUCTIONS 

1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK THAT 

THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES, ETC. IF SO, 

GET IT REPLACED BY A COMPLETE TEST BOOKLET. 

2. This Test Booklet contain 100 questions. Each question comprises four responses (answers). You will need 

to select the response which you want to mark on the OMR Sheet. In any case, choose ONLY ONE 

response for each question. More than one response will be treated as wrong answer. 

3. You have to mark all your responses ONLY on the separate OMR Sheet provided. 

4. All questions carry equal marks. ​(2 Marks Each) 

5. For each question for which a wrong answer has been given by the candidate, ​one third (-0.33 %) of 

the marks assigned to that question will be deducted as penalty.​ There will be no penalty for a 

question which is left blank. 

6. While writing Name and Roll No. on the top of the OMR Sheet in appropriate boxes use “ONLY BLACK 

BALL POINT PEN”. 

7. After you have completed filling in all your responses you should handover the OMR Sheet to the invigilator. 

You are permitted to take away the Test Booklet. 

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO SO 

1.​Arrange the following their correct chronological order 
1. Vasco Da Gama discovered sea route to India. 
2. Formation of English East India Company. 
3. Magna Carta of the East India Company. 
4. Treaty of Paris 

Choose the correct code 
(a)       1-2-3-4 
(b)       1-2-4-3 
(c)       2-1-3-4 
(d)       2-1-4-3  

2.Match the following 
Events                           Description 

1. Battle of Bidara   A)Victory of British forces over the French 
forces 
2. Battle of Wandiwash B)English defeated Dutch 
3. Fort St. George             C)Madras was handed back to British 
4. Treaty of Aix-La Chapelle   D) Replaced Masulipatnam as the 

English headquarters on the east coast 
Choose the correct code 

(a)        A-1 B-2 C-3 D-4 
(b)        A-2 B-1 C-4 D-3 
(c)        A-3 B-2 C-4 D-1 
(d)        A-4 B-2 C-3 D-1  

3.​What were the appropriate reasons for the increasingly large 

1.​�न�न�ल�खत को सह� काल�मानसुार �यवि�थत क�िजए। 
1. वा�को डी गामा �वारा भारत पहंुचने वाले सम�ु� माग� क� खोज। 
2. इंि�लश ई�ट इं�डया कंपनी क� �थापना। 
3. ई�ट इं�डया कंपनी का म�ैना काटा�। 
4. पे�रस क� सं�ध। 

सह� कूट का चयन क�िजए: 
(a) 1-2-3-4 
(b) 1-2-4-3 
(c) 2-1-3-4 
(d) 2-1-4-3  

2.​�न�न�ल�खत य�ुम� का सह� स�ुमेलन क�िजए 
घटनाएं �या�या 

1. बीदर क� लड़ाई A) �ांसीसी सेना पर ���टश सेना क� �वजय 

2. वां�डवाश क� लड़ाई B) अ�ेंज� ने डच� को परािजत �कया 

3. फोट� स�ट जॉज� C) म�ास पनु: अ�ेंज� को स�पा गया 

4. ए�स ला चपैल 
सं�ध 

D) पवू� तट पर मसलु�प�टनम अ�ेंजी 
म�ुयालय नह�ं रहा 

सह� कूट का चयन क�िजए: 
(a)   A-1 B-2 C-3 D-4 
(b)   A-2 B-1 C-4 D-3 
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number of wars fought at Panipat? 
1. Panipat’s surrounding region has a flat ground which was 
suitable for cavalry movement which was main mode of warfare 
at that time. 
2. The duration of monsoon rainfall in the region is short in 
comparison to other areas making it easier to fight. 
3. Its proximity to Delhi made it easier for the Indian rulers to 
transport weapons, military and food supplies. 

Choose the correct code 
(a) 1 and 2 only 
(b) 2 and 3 only 
(c) 1 and 3 only 
(d) All of the above  

4.​Consider the following statements about the taxation system 
during the Marathas. 

1. Chauth was annual tax nominally levied at 25% on revenue or 
produce on the lands which were under Mughal rule. 
2. Sardeshmukhi was an additional 10% levy on top of the 
Chauth which was tribute paid to the king. 

Choose the correct code 
(a) 1 only 
(b) 2 only 
(c) Both 1 and 2 
(d) None of the above  

5.​Consider the following statements about the states that emerged 
as a result of the decline of the Mughal empire. 

1. Successor states were those Mughal provinces which turned 
into states after breaking away from the empire. 
2. New states are those which came into existence primarily due 
to the destabilisation of the Mughal control over the provinces. 
3. Independent states were the states which were set up by the 
rebels against the Mughal Empire. 

Choose the correct code 
(a) 1 and 2 only 
(b) 2 and 3 only 
(c) 1 and 3 only 
(d) 1 only  

6.​Match the following states with their founders 
State                     Founder 
1. Hyderabad     A)Martanda Varma 
2.  Kerala           B)Murshid Kuli Khan 
3.  Bengal          C)Burhan-Ul-Mulk 
4. Awadh            D)Nizam-Ul-Mulk 

Choose the correct code 
(a) A-2 B-3 C-4 D-1 
(b) A-3 B-1 C-4 D-2 
(c) A-2 B-1 C-4 D-3 
(d) A-2 B-1 C-3 D-4  

7.​Which of the following were found to be the appropriate reasons 
for the downfall of Mughal Empire? 

1. Aurangzeb’s Religious and Deccan Policies antagonised 
various rulers. 
2. Endless wars, stagnation in agriculture, and decline in trade 
and industry emptied the royal treasury. 
3. The vast empire became a difficult task for weak rulers to 
administer efficiently. 

Choose the correct code 
(a) 1 and 2 only 
(b) 2 and 3 only 
(c) 1 and 3 only 

(c)   A-3 B-2 C-4 D-1 
(d)   A-4 B-2 C-3 D-1  

3.​पानीपत म� अनेक य�ुध होने के उपय�ुत �या कारण थे? 
1.  पानीपत के चार� ओर का भभूाग समतल है जो घड़ुसवार सेना (जो उस 
समय य�ुध क� म�ुय प�ध�त हुआ करती थी) से य�ुध करने हेत ुउपय�ुत 
था। 
2.  इस �े� म� मानसनू क� अव�ध अ�य �े�� क� अपे�ा लघ ुहै, िजससे य�ुध 
करना आसान था। 
3.  �द�ल� से इसक� �नकटता के चलत ेभारतीय राजाओ ंके �लए ह�थयार, 
सेना और खा�य साम�ी क� आप�त� पानीपत तक पहँुचाना आसान था। 

सह� कूट का चयन क�िजए: 
(a)   केवल 1 और 2 
(b)   केवल 2 और 3 
(c)   केवल 1 और 3 
(d)   उपयु��त सभी  

4.​मराठा शासन म� कर �णाल� के संदभ� म� �न�न�ल�खत कथन� पर �वचार 
क�िजए। 

1.  चौथ उन भ�ूमय� के राज�व अथवा उपज पर लगाया जाने वाला 25% 
वा�ष�क कर था जो मगुल शासन के अधीन थी। 
2.  सरदेशमखुी, चौथ के ऊपर लगने वाला 10% अ�त�र�त कर था जो 
नजराने के �प म� राजा को �दया जाता था। 

सह� कूट का चयन क�िजए: 
(a)   केवल 1 
(b)   केवल 2 
(c)   1 और 2 दोन� 
(d)   उपरो�त म� से कोई नह�ं  

5.​मगुल सा�ा�य के पतन के प�रणाम�व�प उभरे रा�य� के संदभ� म� 
�न�न�ल�खत कथन� पर �वचार क�िजए। 

1.  उ�रा�धकार� रा�य वे मग़ुल सबेू थे जो सा�ा�य से पथृ�क होने के प�चात 
रा�य बन गए। 
2.  नए रा�य मगुल �ा�त� पर सा�ा�य का �नयं�ण अि�थर हो जाने से 
अि�त�व म� आए। 
3.  �वतं� रा�य वे रा�य थे िजनक� �थापना मग़ुल सा�ा�य के �व�ो�हय� 
�वारा क� गई थी। 

सह� कूट का चयन क�िजए: 
(a) केवल 1 और 2 
(b) केवल 2 और 3 
(c) केवल 1 और 3 
(d) केवल 1  

6.​�न�न�ल�खत रा�य� और उनके सं�थापक� को समेु�लत क�िजए- 
रा�य सं�थापक 

1. हैदराबाद A) मात�ड वमा� 

2. केरल B) म�ुश�द कुल� खा ं

3. बंगाल C) बरुहान-उल-म�ुक 

4. अवध D) �नजाम-उल-म�ुक 
सह� कूट का चयन क�िजए: 

(a)   A-2 B-3 C-4 D-1 
(b)   A-3 B-1 C-4 D-2 
(c)   A-2 B-1 C-4 D-3 
(d)   A-2 B-1 C-3 D-4  

7.​�न�न�ल�खत म� से कौन-से मगुल सा�ा�य के पतन के उपय�ुत कारण माने 
जा सकत ेह�? 

1.  औरंगजेब क� धा�म�क और द�कन नी�त ने अनेक शासक� को नाराज कर 
�दया। 
2.  अतंह�न य�ुध, कृ�ष म� ठहराव और �यापार व उ�योग� म� �गरावट ने शाह� 
खजाने को खाल� कर �दया। 
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(d) All of the above  
8.​Who among the following is related to the famous black hole 
tragedy in the history of modern India? 

(a) Siraj-ud-daula 
(b) Shuja-ud-daula 
(c) Mir jafar 
(d) Robert Clive  

9.​Which of the following statements are correct regarding the battle 
of Plassey? 

1.The battle established the supremacy of the English in whole 
of India. 
2. Mir Jafar became the Nawab of Bengal after the battle and he 
was completely free from the British control. 
3. The battle changed the form of government followed till then. 

Choose the correct code 
(a) 1 and 2 only 
(b) 1 only 
(c) 1 and 3 only 
(d) None of the above  

10.​Consider the following statements about dual system of 
government. 

1. It was introduced by Robert Clive immediately after the battle 
of Plassey. 
2. The company exercise diwani rights as the diwan whereas 
the nizamat function was exercised by the nawab. 

Choose the correct code 
(a) 1 only 
(b) 2 only 
(c) Both 1 and 2 
(d) None of the above  

11.​Which of the following are correct about the great leap forward 
campaign? 
(a) It is a Chinese campaign initiated in 1958 aimed at 
industrialising the country on a massive scale. 
(b) It is an Indian campaign initiated in 1992 aimed at industrialising 
the country on a massive scale. 
(c) It is a Chinese campaign initiated in 1958 aimed at import 
substitution of the consumer goods. 
(d) It is a Pakistani campaign initiated in 1958 aimed at increasing 
the food grain production using green revolution technology.  
12.​Which of the following organisation releases Human 
development report? 

(a) UNDP 
(b) World Bank 
(c) World Economic Forum 
(d) UNESCO  

13.​Which of the following best describes the meaning of carrying 
capacity of environment? 
(a)    The situation where resource extraction is above the rate of 
regeneration of the resource 
(b)   The situation where resource extraction is below the rate of 
regeneration of the resource the wastes generated are within the 
assimilating capacity of the environment 
(c)   It is the ability of the environment to absorb degradation 
(d)    None of the above  
14.​Arrange the following in the increasing order of contribution to 
India’s total electricity generation in 2018. 

1. Thermal power 
2. Hydel power 
3. Nuclear power 

3.  कमजोर शासक� के �लए �वशाल सा�ा�य का कुशलतापवू�क संचालन 
क�ठन हो गया था। 

सह� कूट का चयन क�िजए: 
(a)   केवल 1 और 2 
(b)   केवल 2 और 3 
(c)   केवल 1 और 3 
(d)   उपयु��त सभी  

8.​�न�न�ल�खत म� से आध�ुनक भारत के इ�तहास क� ��स�ध �लकै होल(black 
hole) दघु�टना से संबं�धत है? 

(a)   �सराज-उद-दौला 
(b)   शजुा-उद-दौला 
(c)   मीर जाफर 
(d)   रॉबट� �लाइव 

9.​�लासी क� लड़ाई के संदभ� म� �न�न�ल�खत म� से कौन-से कथन सह� ह�? 
1.  इस लड़ाई ने संपणू� भारत म� अ�ेंज� क� सव��चता �था�पत कर द�। 
2.  लड़ाई के प�चात मीर जाफर बंगाल का नवाब बन गया और वह अ�ेंज� के 
�नयं�ण से परू� तरह म�ुत था। 
3.  लड़ाई ने अब तक चले आ रहे सरकार के �व�प को प�रव�त�त कर �दया। 

सह� कूट का चयन क�िजए: 
(a)   केवल 1 और 2 
(b)   केवल 1 
(c)   केवल 1 और 3 
(d)   उपरो�त म� से कोई नह�ं  

10.​सरकार के �वधै शासन के संदभ� म� �न�न�ल�खत कथन� पर �वचार क�िजए। 
1.  यह �लासी क� लड़ाई के तरंुत प�चात रॉबट� �लाइव के �वारा लाया गया 
था। 
2.  द�वानी अ�धकार कंपनी के पास थे जब�क �नजामत के काय� नवाब के 
अधीन थे। 

सह� कूट का चयन क�िजए: 
(a)   केवल 1 
(b)   केवल 2 
(c)   1 और 2 दोन� 
(d)   उपरो�त म� से कोई नह�ं  

11.​�ेट ल�प फॉरवड� अ�भयान(great leap forward campaign) के �वषय म� 
�न�न�ल�खत म� से कौन-सा कथन सह� है? 
(a)   यह 1958 म� आरंभ �कया गया चीनी अ�भयान है िजसका उ�दे�य वहृत 
�तर पर देश का औ�यो�गक�करण करना था। 
(b)  यह 1992 म� आरंभ �कया गया भारतीय अ�भयान है िजसका उ�दे�य वहृत 
�तर पर देश का औ�यो�गक�करण करना था। 
(c)   यह 1958 म� आरंभ �कया गया चीनी अ�भयान है िजसका उ�दे�य 
उपभो�ता व�तओु ंके आयात का �थानाप�न था। 
(d)  यह 1958 म� आरंभ �कया गया पा�क�तानी अ�भयान है िजसका उ�दे�य 
ह�रत �ां�त �ौ�यो�गक� का �योग कर अनाज का उ�पादन बढ़ाना था।  
12.​�न�न�ल�खत म� से कौन-सा संगठन मानव �वकास �रपोट� जार� करता है? 

(a)   यएूनडीपी 
(b)   �व�व ब�क 
(c)   �व�व आ�थ�क मंच 
(d)   यनेू�को  

13.​�न�न म� से कौन-सा कथन पया�वरण क� वहन �मता के अथ� क� सव��म 
�या�या करता है? 
(a)   वह अव�था िजसम� संसाधन� के दोहन क� दर उनके पनुभ�रण क� दर से 
अ�धक होती है। 
(b)  वह अव�था िजसम� संसाधन� के पनुभ�रण क� दर उनके दोहन क� दर से 
अ�धक होती है तथा उ�प�न अप�श�ट पया�वरण क� आ�मसात करने क� �मता 
के अतंग�त होता है। 
(c)   यह पया�वरण क� �न�नीकरण को समा�हत करने क� �मता है। 
(d)   उपरो�त म� से कोई नह�ं  
14.​�न�न�ल�खत को 2018 म� भारत म� हुए कुल �व�यतु उ�पादन म� उनके 
योगदान के अनसुार आरोह� �म म� �यवि�थत क�िजए। 

1. तापीय उजा� 
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4. Renewable energy sources 
Choose the correct code 

(a) 3<4<1<2 
(b) 3<4<2<1 
(c) 3<2<4<1 
(d) 3<2<3<4  

15.​Consider the following statements regarding employment status 
in India. 

1. Worker-population ratio gives the proportion of population that 
is actively contributing to the production of goods and services 
of a country. 
2. Higher the ratio, lower the engagement of people in the 
economic activities. 

Choose the correct code 
(a) 1 only 
(b) 2 only 
(c) Both 1 and 2 
(d) None of the above  

16.​Which of the following are not the members of BIMSTEC? 
1. Laos 
2. Myanmar 
3. Maldives 
4. China 
5.  Thailand 

Choose the correct code 
(a) 1,2 and 3 only 
(b) 1,3 and 4 only 
(c) 1 and 4 only 
(d) 1 and 3 only  

17.​Which of the following is/are included in foreign exchange 
reserves? 

1. Bank notes 
2. Government Securities 
3. Bonds 
4. Treasury bills 

Choose the correct code 
(a) 1,2 and 4 only 
(b) 1 only 
(c) 1,2 and 3 only 
(d) All of the above  

18.​Which of the following are the reports given by International 
Monetary Fund? 

1. Fiscal Monitor 
2. World economic outlook 
3. Global Financial Stability report 
4. World Development report 

Choose the correct code 
(a) 1,2 and 4 only 
(b) 1 and 2 only 
(c) 1 and 3 only 
(d) All except 4  

19.A​fter the 12th five year plan, the government has introduced 
three year action agenda for the development of Indian economy. 
What is the time period of this agenda? 

(a) 2017-2020 
(b) 2018-2021 
(c) 2019-2022 
(d) 2020-2023  

20.​What causes the planets to rotate within their respective orbits? 
(a) Their great size and spherical shape 

2. जल�य उजा� 
3. परमाण ुउजा�  
4. नवीकरणीय उजा� 

सह� कूट का चयन क�िजए: 
(a)   3<4<1<2 
(b)   3<4<2<1 
(c)   3<2<4<1 
(d)   3<2<3<4  

15.​भारत म� रोजगार क� ि�थ�त के संदभ� म� �न�न�ल�खत कथन� पर �वचार 
क�िजए। 

1.  ��मक-जनसं�या अनपुात, जनसं�या के उस अनपुात को दशा�ता है जो 
देश म� व�तओु ंऔर सेवाओ ंके उ�पादन म� स��य योगदान दे रहा है। 
2.   यह अनपुात िजतना उ�च होगा, आ�थ�क ग�त�व�धय� म� लोग� क� 
भागीदार� उतनी ह� कम होगी। 

सह� कूट का चयन क�िजए: 
(a)   केवल 1 
(b)   केवल 2 
(c)   1 और 2 दोन� 
(d)   उपरो�त म� से कोई नह�ं  

16.​�न�न�ल�खत म� से कौन-से देश �ब�सटेक के सद�य नह�ं ह�? 
1.  लाओस 
2.  �यांमार 
3.  मालद�व 
4.  चीन 
5.  थाईल�ड 

सह� कूट का चयन क�िजए: 
(a)   केवल 1,2 और 3 
(b)   केवल 1,3 और 4 
(c)   केवल 1 और 4 
(d)   केवल 1 और 3  

17.​�न�न�ल�खत म� से �वदेशी म�ुा �व�नमय कोष म� सि�म�लत �कया जाता है? 
1.  ब�क नोट 
2.  सरकार� ��तभ�ूतया ं
3.  बॉ��स 
4.  �ेज़र� �ब�स 

सह� कूट का चयन क�िजए: 
(a)   केवल 1,2 और 4 
(b)   केवल 1 
(c)   केवल 1,2 और 3 
(d)   उपयु��त सभी  

18.​�न�न�ल�खत म� से अतंरा����य म�ुा कोष �वारा जार� क� जाने वाल� �रपोट� 
ह�? 

1.  �फ�कल मॉ�नटर 
2.  व�ड� इकनो�मक आउटलकु 
3.  �लोबल फाइन��सयल �टे�ब�लट� �रपोट� 
4.  व�ड� डवेलपम�ट �रपोट� 

सह� कूट का चयन क�िजए: 
(a)   केवल 1,2 और 4 
(b)   केवल 1 और 2 
(c)   केवल 1 और 3 
(d)   4 के अ�त�र�त सभी  

19.​12 वीं पंचवष�य योजना के प�चात सरकार, भारतीय अथ��यव�था के �वकास 
के �लए तीन वष�य ए�शन एज�ड ेका �नमा�ण �कया गया है। इस एज�ड ेक� 
समयाव�ध �या है? 

(a)   2017-2020 
(b)   2018-2021 
(c)   2019-2022 
(d)   2020-2023  

20.​�न�न म� से कौन-से कारण से उप�ह अपनी क�ीय अ� पर घणू�न करत ेह�? 
(a)   उनका �वशाल आकार और गोलाकार होना 
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(b) Gravitation alone 
(c) Gravitation and inertia 
(d) The rotation of sun on its own axis  

21.​Consider the following statements about meteors and 
meteorites 

1. Meteor is an interplanetary body which enters the earth's 
atmosphere and explodes in mid-air as a ball of fire. 
2. Meteorite is also an interplanetary body which travels through 
the earth’s atmosphere lands on the surface of the earth without 
exploding in mid-air. 

Choose the correct code 
(a) 1 Only 
(b) 2 only 
(c) Both 1 and 2 
(d) None of the above  

22.​The twelve constellations in the sky which are referred to as 
Zodiac are 
(a)       Group of stars 
(b)       Signs of roman gods 
(c)       Imaginary region that encompass the path of the planets 
(d)       Group of exo-planets  
23.​The time taken by the sun to orbit once around the centre of its 
galaxy is called 

(a) Cosmic year 
(b) Solar year 
(c) Parsec 
(d) Light year  

24.​When heated Magma flow onto Earth's surface through fracture, 
cracks and volcanoes, it is known as? 

(a) Lava 
(b) Molten magma 
(c) Core magma 
(d) Mantle  

25.​Which of the following is not an intrusive volcanic landform? 
(a) Batholith 
(b) Dyke 
(c) Lacolith 
(d) Cinder cone  

26.​Which of the following are the immediate effects of Earthquake? 
1. Soil liquefaction 
2. Avalanches 
3. Structural Collapse 
4. Tsunami 
5. Floods from dam and levee failures 

Choose the correct code 
(a) 1,2,3 and 5 only 
(b) 1,2,3 and 4 only 
(c) 2,3 4 and 5 only 
(d) All of the above  

27.​Consider the following statements regarding laws and morals. 
1.  Laws are concerned with external acts of man and not motives 
Whereas Morality Concerned with both the external acts and 
internal motives. 
2. Law is subjective whereas morality is objective 
Choose the incorrect code 

(a) 1 only 
(b) 2 only 
(c) Both 1 and 2 
(d) None of the above  

28.​Which of the following correctly explains the nature of Indian 

(b)   केवल गु��वाकष�ण 
(c)   गु��वाकष�ण तथा जड़�व 
(d)   सयू� का अपने अ� पर घणू�न  

21.​उ�का-पात(meteor) और उ�का-�पडं(meteorite) के संदभ� म� �न�न�ल�खत 
कथन� पर �वचार क�िजए। 

1.  उ�का-पात एक अ�त��ह�य �पडं ह� जो प�ृवी के वायमुंडल म� �वेश करता ह� 
और वाय ुम� ह� आग के गोले क� भां�त न�ट हो जाता ह�। 
2.  उ�का-�पडं भी एक अ�त��ह�य �पडं है जो प�ृवी के वायमुंडल से गुजरता है 
और वाय ुम� न�ट हुए �बना प�ृवी क� सतह पहंुचता है। 

सह� कूट का चयन क�िजए: 
(a)   केवल 1 
(b)   केवल 2 
(c)   1 और 2 दोन� 
(d)   उपरो�त म� से कोई नह�ं  

22.​आकाश के बारह न�� िज�ह� रा�श च�(Zodiac) कहत ेह�, �न�न�ल�खत म� 
से �या से ह�- 

(a)   तार� का समहू 
(b)   रोमन देवताओ ंके �च�न 
(c)   �ह� के माग� को चार� ओर से घेरे हुए का�प�नक �े� 
(d)   बा�य �ह� का समहू  

23.​सयू� �वारा अपनी आकाशगंगा के क� � के चार� ओर च�कर लगाने म� लगने 
वाला समय कहलाता है? 

(a)   कॉि�मक वष� 
(b)   सौर वष� 
(c)   पारसेक 
(d)   �काश वष�  

24.​जब गम� म�ैमा भंजन(fracture), दरार�, तथा �वालामखुी से होकर प�ृवी क� 
सतह पर �वा�हत होता है तो इसे कहा जाता है? 

(a)   लावा 
(b)   �पघला म�ैमा 
(c)   कोर म�ैमा 
(d)   म�टल  

25.​�न�न�ल�खत म� से कौन-सी एक अतंव�धी �वालामखुी �थलाकृ�त नह�ं है? 
(a)   बथैो�लथ 
(b)   डाईक 
(c)   लकैो�लथ 
(d)   �स�डर शंकु  

26.​�न�न�ल�खत म� से कौन से भकंूप के �व�रत �भाव नह�ं ह�? 
1.  मदृा �वीकरण 
2.  भ�ूखलन 
3.  अवसंरचना का �वनाश 
4.  सनुामी 
5.  बाँध से बाढ़ और तटबंद का टूटना 

सह� कूट का चयन क�िजए: 
(a)   केवल 1,2,3 और 5 
(b)   केवल 1,2,3 और 4 
(c)   केवल 2,3 4 और 5 
(d)   उपयु��त सभी  

27.​काननू और न�ैतकता के संदभ� म� �न�न�ल�खत कथन� पर �वचार क�िजए। 
1.  क़ाननू मानव के बा�य काय� से संबं�धत ह� न �क उसके 
�योजन(motives) से, जब�क न�ैतकता बा�य काय� और �योजन� दोन� से 
संबं�धत है। 
2.  क़ाननू �यि�त�न�ठ है जब�क न�ैतकता व�त�ुन�ठ है। 

सह� कूट का चयन क�िजए: 
(a)   केवल 1 
(b)   केवल 2 
(c)   1 और 2 दोन� 
(d)   उपरो�त म� से कोई नह�ं  

28.​�न�न�ल�खत म� से कौन-सा भारतीय संघवाद क� सह� �या�या करता है? 
(a)   संवधैा�नक �प से सम�मत 
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federalism? 
(a) Constitutionally symmetric 
(b) Constitutionally asymmetric 
(c) Partial symmetric 
(d) Partially symmetric and partially asymmetric  

29.​The constitution of India has largely remained intact with its 
basic philosophy since Independence. Which of the following 
arguments support this case? 

1.  Our constitution is robust and its basic framework is very 
much suited to our country. 
2. The Constitution makers were very farsighted and provided 
for many solutions for future situations. 

Choose the correct code 
(a) 1 only 
(b) 2 only 
(c) Both 1 and 2 
(d) None of the above  

30.​Which of the following statements hold true about the nature of 
Indian constitution? 

1. It is a statement of the philosophy of the country and is 
unalterable. 
2. It is placed above the ordinary law of the country. 
3. It is a sacred document therefore any talk of changing it is 
against democracy. 

Choose the correct code 
(a) 1 and 2 only 
(b) 2 and 3 only 
(c) 2 only 
(d) 1 and 3 only  

31.​Which of the following were the reasons for failure of Revolt of 
1857? 

1.  Different groups had different ideologies and they were not 
fighting for the same cause. 
2. British had superior arms and resources as compared to 
Indians. 
3.  British had faster communication system. 
4. During the revolt British were fighting many wars in the 
neighbouring countries like China, Burma and Afghanistan so 
they couldn’t concentrate on India only. 

Select the code from below: 
(a)        1,2 and 3 
(b)        2,3 and 4 
(c)        1,3 and 4 
(d)        All of the above  

32.​Who of the following did not participate in the revolt of 1857? 
1.       Sikh Regiment 
2.       Nizam of Hyderabad 
3.       Raja of Mysore 
4.       King of Nepal 
5.       Western educated Middle class Indians 

Select the code from following: 
(a)        1,2 and 5 
(b)        1,3,4 and 5 
(c)        1,2,3 and 5 
(d)        All of the above  

33.​Who of the following leaders died during the revolt of 1857? 
1.       Bahadur Shah Zafar II 
2.       Rani Lakshmibai 
3.       Begum Hazrat Mahal 
4.       Tatya Tope 

(b)   संवधैा�नक �प से असम�मत 
(c)   आ�ंशक �प से सम�मत 
(d)   आ�ंशक �प से सम�मत और आ�ंशक �प से असम�मत  

29.​भारत का सं�वधान �वतं�ता के प�चात से अपने आधारभतू दश�न के साथ 
अ�ु�ण बना हुआ है। �न�न�ल�खत म� से कौन से तक�  इस बात का समथ�न करत े
ह�? 

1.  हमारा सं�वधान स�ुढ़ है और इसका आधारभतू ढ़ांचा देश के �लए अ�त 
उपय�ुत है। 
2.  सं�वधान �नमा�ता काफ� दरूदश� थे और उ�ह�ने भ�व�य क� प�रि�थ�तय� 
हेत ुअनेक समाधान उपल�ध करवाए। 

सह� कूट का चयन क�िजए: 
(a)   केवल 1 
(b)   केवल 2 
(c)   1 और 2 दोन� 
(d)   उपरो�त म� से कोई नह�ं  

30.​�न�न�ल�खत म� से कौन-सा कथन भारतीय सं�वधान क� �कृ�त के संदभ� म� 
स�य है? 

1.  यह देश के दश�न क� अ�भ�यि�त है तथा अप�रवत�नीय है। 
2.  इसे देश के सामा�य �वधान� से ऊपर है। 
3.  यह एक प�व� द�तावेज है, अत: इसे प�रव�त�त करने का कोई भी �यास 
लोक�तं के �व��ध है। 

सह� कूट का चयन क�िजए: 
(a)   केवल 1 और 2 
(b)   केवल 2 और 3 
(c)   केवल 2 
(d)   केवल 1 और 3  

31.​�न�न�ल�खत म� से कौन-से 1857 के �व�ोह क� �वफलता के कारण थे? 
1.  �व�भ�न समहू� क� �भ�न-�भ�न �वचारधाराएं थी और वे एक उ�दे�य के 
�लए नह�ं लड़ रहे थे। 
2.  भारतीय� क� तलुना म� अ�ेंज� के पास बेहतर ह�थयार और संसाधन थे। 
3.  अ�ेंज� के पास संचार क� ती�तम �णाल� थी। 
4.  �व�ोह के दौरान अ�ेंज पड़ोसी देश� जसेै चीन, बमा� और अफगा�न�तान म� 
अनेक य�ुध लड़ रहे थे, अत: वे केवल भारत पर �यान क� ��त नह�ं कर पाए। 

�न�न�ल�खत म� से कूट का चयन क�िजए: 
(a)   1,2 और 3 
(b)   2,3 और 4 
(c)   1,3 और 4 
(d)   उपयु��त सभी  

32.​�न�न�ल�खत म� से �कसने 1857 के �व�ोह म� भाग नह�ं �लया था? 
1.  �सख रेिजम�ट 
2.  हैदराबाद का �नजाम 
3.  मसैरू का राजा 
4.  नेपाल नरेश 
5.  पि�चमी �श�ा �ा�त म�यवग�य भारतीय 

�न�न�ल�खत म� से कूट का चयन क�िजए: 
(a)   1,2 और 5 
(b)   1,3,4 और 5 
(c)   1,2, 3 और 5 
(d)   उपयु��त सभी  

33.​�न�न�ल�खत म� से कौन-से नेता क� 1857 के �व�ोह के दौरान म�ृय ुहो गई 
थी? 

1. बहादरु शाह जफर II 
2. रानी ल�मीबाई 
3. बेगम हजरत महल 
4. ता�या टोपे 
5. नाना साहेब 

�न�न�ल�खत म� से कूट का चयन क�िजए: 
(a)   1,2 और 3 
(b)   2,4 और 5 
(c)   2 और 4 
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5.       Nana Sahib 
Select the code from following: 

(a) 1,2 and 3 
(b) 2,4 and 5 
(c) 2 and 4 
(d) All of the above  

34.​Which of the following personalities have called the Revolt of 
1857, the First war of Indian Independence? 

(a) Bipan Chandra 
(b) Outram 
(c) V D Savarkar 
(d) Mahatma Gandhi  

35.​The Regulating Act 1773 was an Act of the Parliament of Great 
Britain intended to overhaul the management of the East India 
Company's rule in India. Which of the following statements 
regarding this Act are correct? 

1. It established the Supremacy of Bengal over the other 
presidencies. 
2. It disallowed all Presidencies in India to give orders to 
commence hostilities or sign peace treaties. 
3.It established a Supreme Court at Fort William, Calcutta. 

Select the code from following: 
(a) 1 and 2 
(b) 2 and 3 
(c) 1 and 3 
(d) All of the above  

36.​Which of the following British Act introduced an open 
competition for Indian Civil Service? 

(a) Charter Act 1813 
(b) Charter Act 1833 
(c) Charter Act 1853 
(d) Government of India Act 1858  

37.​Which of the following were the features of Doctrine of Lapse 
Policy? 
1. As per policy an adopted son of a ruler could not be proclaimed 
as the heir to the throne. 
2. An adopted son will not inherit the personal property and estates 
of his foster father. 
3. An adopted son would not be entitled to any pension given to his 
father by the British Government. 
Select the code from following: 

(a)        1 and 2 
(b)        2 and 3 
(c)        1 and 3 
(d)        All of the above  

38.​Which of the following was distributed during the revolt of 1857 
to create awareness? 

(a)        Sindoor and leaves 
(b)        Chapati and Lotus 
(c)        Red and Green cloth 
(d)        Broken sticks  

39.​For which of the following purposes, Peel Commission was 
constituted by the British Government? 
(a) Reorganisation of Army after revolt of 1857 
(b) Address the issue of corruption in East India Company. 
(c) To recommend measures for conducting exam for Civil 
Services in India 
(d) To return the annexed states to rulers after revolt of 1857  
40.​Which of the following statements are the correct reasons of 
Vellore Mutiny? 

(d)   उपयु��त सभी  
34.​�न�न�ल�खत म� से कौन-से �यि�त ने 1857 के �व�ोह को भारतीय �वतं�ता 
क� �थम लड़ाई कहा है? 

(a)   �बपन च�� 
(b)   आउटरम 
(c)   वी डी सावरकर 
(d)   महा�मा गाँधी  

35.​1773​ का रे�यलेु�टगं ए�ट ���टश संसद �वारा �न�म�त एक काननू था जो 
भारत म� ई�ट इं�डया क�पनी के शासन के �बंधन म� प�रवत�न हेत ुलाया गया 
था। �न�न�ल�खत म� से कौन से कथन इस काननू के संदभ� म� सह� ह�? 
1. इसने अ�य �े�सड��सय� पर बंगाल क� सव��चता �था�पत कर द�। 
2. इसने भारत म� सभी �े�सड��सय� को य�ुध �ार�भ करने के आदेश देने अथवा 
शां�त सं�धयां ह�ता��रत करने से ��तबं�धत कर �दया। 
3. इसने कलक�ा के फोट� �व�लयम म� स�ुीम कोट� क� �थापना क�। 
�न�न�ल�खत म� से कूट का चयन क�िजए: 

(a)   1 और 2 
(b)   2 और 3 
(c)   1 और 3 
(d)   उपयु��त सभी  

36.​�न�न�ल�खत म� से कौन-से ���टश काननू ने भारतीय �स�वल सेवाओ ंम� 
खलु� ��त�पधा� क� श�ुआत क�? 

(a)   1813 का चाट�र ए�ट 
(b)   1833 का चाट�र ए�ट 
(c)   1853 का चाट�र ए�ट 
(d)   1858 का भारत सरकार अ�ध�नयम  

37.​�न�न�ल�खत म� से कौन-सी �यपगत के �स�धांत(doctrine of Lapse 
Policy) क� �वशषेताएं थी? 
1. इस �स�धांत के अनसुार �कसी शासक के �वारा गोद �लए गए प�ु को 
�सहंासन का उ�रा�धकार� नह�ं घो�षत नह�ं �कया जा सकता था। 
2. गोद �लया प�ु उ�रा�धकार म� अपने पोषक(foster) �पता क� �यि�तगत 
संप�त और जायदाद �ा�त नह�ं करेगा। 
3. गोद �लया प�ु ���टश सरकार �वारा उसके �पता को द� जा रह� प�शन पाने का 
अ�धकार� नह�ं होगा। 
�न�न�ल�खत म� से सह� कूट का चयन क�िजए: 

(a)   1 और 2 
(b)   2 और 3 
(c)   1 और 3 
(d)   उपयु��त सभी  

38.​�न�न�ल�खत म� से 1857 के �व�ोह के दौरान जाग�कता के �सार हेत ु
�वतरण �कया गया था? 

(a)   �सदंरू और प��या ं
(b)   चपाती और कमल का फूल 
(c)   लाल और हरा व�� 
(d)   टूट� हुई लकड़ी(broken stick)  

39.​�न�न�ल�खत म� से कौन-से उ�दे�य हेत ु���टश सरकार �वारा पील आयोग 
का गठन �कया गया था? 
(a)   1857 के �व�ोह के प�चात सेना के पनुस�गठन हेत।ु 
(b)   ई�ट इं�डया कंपनी म� �या�त ��टाचार के म�ुदे के समाधान हेत।ु 
(c)   भारत म� �स�वल सेवा पर��ा का संचालन करवाने के उपाय� क� अनशुंसा 
करने हेत।ु 
(d)   1857 के �व�ोह के प�चात �यपगत क� गई �रयासत� उनके पवू� शासक� को 
लौटाने हेत।ु  
40.​�न�न�ल�खत म� से कौन-से कथन वे�लोर �व�ोह के �लए उ�रदायी थे? 
1.  न�ल�य भेदभाव क� उपि�थ�त तथा भारतीय स�ैनक� को कमतर माना जाता 
था। 
2. कण�बा�लयाँ(ear rings) व अ�य जा�तगत पहचान धारण करना ��तबं�धत 
था। 
3. �सपा�हय� को दाढ़� बनाने और मूंछे छोट� करने को कहा गया था। 
4. ऐसी लोक��य अवधारणा �या�त थी �क सभी �सपाह� धीरे-धीरे ईसा� धम� म� 
प�रव�त�त हो जाएंगे। 
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1. There was a racial prejudice and Indian sepoys were considered 
inferior. 
2. Wearing ear rings and caste marks were prohibited. 
3. The sepoys were asked to shave the chin and trim the 
moustache. 
4. It was a popular belief that all the soldiers would be slowly 
converted to Christianity. 
Select the code from the following: 

(a)        1 and 4 
(b)        1,3 and 4 
(c)        1,2 and 3 
(d)        All of the above  

41.​The painting of Bodhisattva Vajrapani is one of the most famous 
and oft-illustrated paintings at 
(a)Varaha caves 
(b)Badami caves 
(c)Ajanta caves 
(d)Udaygiri caves 
42.​'This state of India has shortest coastline and bordered with five 
Indian states. The northern part of the state never gets the vertical 
sunrays at any time of the year.' 
Which one of the following could be this state? 

(a) Gujarat 
(b) Karnataka 
(c) Odisha 
(d) West Bengal 

43.​With reference to Hibernation, consider the following 
statements: 
1. Only cold-blooded animals undergo hibernation during winters. 
2. Temperature of the animal body increases during hibernation. 
Which of the statements given above is/are correct? 
(a)1 only 
(b)2 only 
(c)Both 1 and 2 
(d)Neither 1 nor 2 
44.​Which of the following are Fundamental Rights? 
1. Right to Privacy 
2. Right to form Political Party 
3. Right to Property 
4. Right to Constitutional Remedies 
Select the correct answer using the code given below. 
(a)1 and 4 only 
(b)3 and 4 only 
(c)1, 2 and 4 only 
(d)1, 2 and 3 only 
45.​Which among the following political associations organized an 
all-India agitation against reduction in maximum age for appearing 
in Indian Civil Service?  
(a)United Patriotic Association 
(b)Indian Association 
(c)Justice Party  
(d)Indian National Congress 
46.​With reference to the Chamber of Princes, consider the 
following statements: 
1. It was set up according to the recommendations of Montford 
Reforms. 
2. It was set up as an advisory body to discuss matters concerning 
existing rights and freedoms of the Princely States. 
Which of the statements given above is/are correct? 
(a)1 only 

�न�न�ल�खत म� से कूट का चयन क�िजए: 
(a)   1 और 4 
(b)   1,3 और 4 
(c)   1,2 और 3 
(d)   उपयु��त सभी  

41.​बो�धस�व व�पा�ण का �च� सवा��धक ��स�ध और �ाय:�च��त �च�कार� है, 
जो  
(a)वाराह क� गुफाओ ंम� है 
(b)बादामी क� गुफाओ ंम� है 
(c)अजंता क� गुफाओ ंम� है 
(d)उदय�ग�र क� गुफाओ ंम� है 
42.​'भारत के इस रा� य क� तटरेखा सबसे छोट� है तथा पांच भारतीय रा�य� क� 
सीमा को �पश� करती है। इस रा�य के उ�र� भाग म� वष� म� �कसी भी समय कभी 
भी सयू� क� �करण� ऊ�वा�धर नह�ं होती ह�।' यह रा�य �न�न�ल�खत म� से कौन-सा 
हो सकता है? 
(a)गुजरात 
(b)कना�टक  
(c)ओ�डशा 
(d)पि�चम बंगाल 
43.​शीत �नि��यता के संदभ� म�, �न�न�ल�खत कथन� पर �वचार क�िजए: 

1. केवल असमतापी (को�ड �लडडे) ज� त ुशीतकाल म� शीत �नि��यता 
�द�श�त करत ेह�। 

2. शीत �नि��यता के दौरान ज� तओु ंके शर�र के तापमान म� व�ृ�ध हो 
जाती है। 

उपयु��त कथन� म� से कौन-सा/से सह� है/ह�? 
(a)केवल 1 
(b)केवल 2 
(c)1 और 2 दोन� 
(d)न तो 1, न ह� 2 
44.​�न�न�ल�खत म� से कौन-से मलू अ�धकार ह�? 
1.�नजता का अ�धकार 
2.राजनी�तक दल बनाने का अ�धकार 
3.संप�� का अ�धकार 
4.संवधैा�नक उपचार� का अ�धकार 
नीचे �दए गए कूट का �योग कर सह� उ�र का चयन क�िजए। 
(a)केवल 1 और 4 
(b)केवल 3 और 4 
(c)केवल 1, 2 और 4 
(d)केवल 1, 2 और 3 
45.​�न�न�ल�खत म� से �कस राजनी�तक सं�था ने भारतीय �स�वल सेवा हेत ु
अ�धकतम आय ुम� कटौती के �व��ध अ�खल भारतीय आदंोलन चलाया था ? 
(a)यनूाइटेड पे��यो�टक एसो�सएशन 
(b)इं�डयन एसो�सएशन 
(c)जि�टस पाट� 
(d)भारतीय रा���य कां�ेस 
46.​च�बर ऑफ ��सेंस के संदभ� म�, �न�न�ल�खत कथन� पर �वचार क�िजए: 

1. म�टफोड� सधुार� क� अनशुंसाओ ंके आधार पर इसक� �थापना क� गई 
थी। 

2. इसक� �थापना �रयासत� के वत�मान अ�धकार� एवं �वतं�ताओ ंसे 
संबं�धत मामल� पर चचा� करने हेत ुएक सलाहकार� �नकाय के �प म� 
क� गई थी। 

उपयु��त कथन� म� से कौन-सा/से सह� है/ह�? 
(a)केवल 1 
(b)केवल 2 
(c)1 और 2 दोन� 
(d)न तो 1, न ह� 2 
47.​भारत के धा�म�क इ�तहास के संदभ� म�, �न�न�ल�खत म� से कौन-से बौ�ध धम� 
के सं�दाय ह�? 

1. �थ�वरवाद 
2. महासां�घक 

KUMAR’S IAS AGRA,  
Contact Number​:+91-7078888888, Mail I’d :kumariasacademy@gmail.com 



IAS                         ​KUMAR’S IAS​                       ​PCS 

(b)2 only 
(c)Both 1 and 2 
(d)Neither 1 nor 2 
47.​With reference to the religious history of India, which of the 
following are the sects of Buddhism? 
1. Sthaviravadins 
2. Mahasanghikas 
3. Sammitiyas 
4. Sautrantika 
Select the correct answer using the code given below. 
(a)1 and 3 only 
(b)2 and 4 only 
(c)1 and 2 only 
(d)1, 2, 3 and 4 
48.​"Essentially a drought prone area, it has an important wetland: 
the Chari Dand. Flora, mostly dominated by halophytes, it is also 
famous for its birdlife. On dark nights ephemeral fires or night lights 
known as 'Chir Batti' are seen here." 
Which of the following ecosystems is best described by the above 
passage? 
(a)Banni Grasslands 
(b)Loktak lake 
(c)Sunderbans mangroves 
(d)Living root bridges of Meghalaya 
49.​For a person to become a President of India he should  
(a)be residing in India. 
(b)be a citizen of India not less than 45 years of age. 
(c)be eligible to become a member of the Rajya Sabha. 
(d)not be holding any office of profit under the Government of India. 
50.​The Addis Ababa Action Agendais sometimes seen in news in 
relation to 
(a)implementing the global sustainable development agenda. 
(b)working towards complete nuclear disarmament. 
(c)promoting interests of the least developed countries (LDCs) in 
world trade. 
(d)checking the rise of epidemics globally. 
51.​The Parliament can make laws on the state subjects during 
which of the following conditions? 
1. National Emergency 
2. President's Rule 
3. Financial Emergency 
Select the correct answer using the code given below. 
(a)1 only  
(b)1 and 2 only 
(c)2 and 3 only  
(d)1, 2 and 3 
52.​With reference to the Biological Diversity Act, 2002, consider 
the following statements: 
1. The Act protect the traditional knowledge and equitable sharing 
of benefits arising out of the use of such knowledge. 
2. Vaidhyas and Hakims who practice Indian system of medicines 
need prior approval for obtaining biological material for commercial 
purposes. 
3. Application for Intellectual Property Rights related to human 
stem cell cannot be made without the approval of National 
Biodiversity Authority. 
Which of the statements given above is/are correct? 
(a)1 only 
(b)1 and 3 only 
(c)2 and 3 only 

3. सि�म�तया ँ
4. सौ�ाि�तक 

नीचे �दए गए कूट का �योग कर सह� उ�र का चयन क�िजए। 
(a)केवल 1 और 3 
(b)केवल 2 और 4 
(c)केवल 1 और 2 
(d)1, 2, 3 और 4 
48.​'मलू �प से सखूा �वण �े� होत ेहुए भी, यहाँ एक मह�वपणू� आ��भ�ूम है: 
छड़ी-धंद (Chari-Dhand)। यहाँ पायी जाने वाल� वन� प�तय� म� अ�धकांशत: 
लवणमदृो��भद पौध� क� �धानता है, यह �े� यहाँ पाए जाने वाले प��य� के �लए 
भी ��स�ध है। अधेँर� रात� म� यहाँ 'चीड़ ब�ी' के �प म� ��स�ध ��णक आग या 
रा�� �काश �दखायी देता है।' 
उपयु��त प�र� छेद �वारा �न�न�ल�खत पा�रि�थ�तक�य तं�� म� से �कसका 
सव�� तम वण�न �कया गया है? 
(a)ब�नी घासभ�ूम 
(b)लोकटक झील 
(c)सुंदरवन म��ोव 
(d)मेघालय के जी�वत पलु 
49.​�कसी �यि�त को भारत का रा��प�त बनने के �लए: 
(a)भारत का �नवासी होना चा�हए। 
(b)भारत का नाग�रक होना चा�हए और उसक� आय ु45 वष� से कम नह�ं होनी 
चा�हए। 
(c)रा�य सभा क� सद�यता हेत ुआव�यक अह�ता धारण करनी चा�हए। 
(d)भारत सरकार के अधीन �कसी लाभ के पद पर नह�ं होना चा�हए। 
50.​कभी-कभी स�ुख़�य� म� रहने वाला 'अद�स अबाबा ए�शन एज�डा' �न�न�ल�खत 
म� से �कससे संबं�धत है: 
(a)विै�वक सतत �वकास एज�ड ेको लागू करना। 
(b)पणू� परमाण ु�नर��ीकरण क� �दशा म� काय� करना। 
(c)�व�व �यापार म� अ�प �वक�सत देश� (LDCs) के �हत� को �ो�साहन देना। 
(d)विै�वक �तर पर महामा�रय� के �सार को �नयं��त करना। 
51.​�न�न�ल�खत म� से �कन प�रि�थ�तय� म� संसद, रा�य के �वषय� पर काननू 
बना सकती है? 

1. रा���य आपातकाल 
2. रा��प�त शासन 
3. �व�ीय आपातकाल 

नीचे �दए गए कूट का �योग कर सह� उ�र का चयन क�िजए। 
(a)केवल 1 
(b)केवल 1 और 2 
(c)केवल 2 और 3 
(d)1, 2 और 3 
52.​जवै-�व�वधता अ�ध�नयम, 2002 के संदभ� म�, �न�न�ल�खत कथन� पर 
�वचार क�िजए: 

1. यह अ�ध�नयम पार�प�रक �ान तथा इस �ान के �योग से �ा�त 
लाभ� के �यायपणू� �वतरण को संर�ण �दान करता है। 

2. भारतीय औष�ध �णाल� का �योग करने वाले व�ैय तथा हक़�म� को 
वा�णि�यक उ�दे�य� के �लए ज�ैवक साम�ी �ा�त करने से पवू� 
अनमु�त �ा�त करना आव�यक है। 

3. रा���य जवै�व�वधता �ा�धकरण के अनमुोदन के �बना मानव �टेम 
सेल से संबं�धत बौ��धक संपदा अ�धकार� हेत ुआवेदन नह�ं �कया जा 
सकता। 

उपयु��त कथन� म� से कौन-सा/से सह� है/ह�? 
(a)केवल 1 
(b)केवल 1 और 3 
(c)केवल 2 और 3 
(d)1, 2 और 3 
53.​भारतीय सं�वधान के �कस भाग म� सामािजक तथा आ�थ�क �याय के आदश� 
को सि�म�लत �कया गया है? 
(a)उ�दे�शका तथा मलू क���य  
(b)रा�य के नी�त �नदेशक त�व तथा मलू अ�धकार 
(c)उ�दे�शका तथा रा�य के नी�त �नदेशक त�व 
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(d)1, 2 and 3 
53.​The ideals of social and economic justice is enshrined in which 
part of the Indian Constitution? 
(a)Preamble and Fundamental Duties 
(b)Directive Principles of State Policy and Fundamental Rights 
(c)Preamble and Directive Principles of State Policy 
(d)Fundamental Duties and Fundamental Rights 
54.​'This park is located in the middle of mountainous area of the 
Cardmom hills. Pamba river originates in this protected area and 
falls into Vembanad lake.' 
The above description is related to which of the following National 
Park? 
(a)Periyar National Park 
(b)Mudumalai National Park 
(c)Kudremukh National Park 
(d)Srisailam National Park 
55.​With reference to Sattriya, consider the following statements: 
1. It is a dance and drama performance. 
2. Drums are the only musical instruments used in the 
performance. 
3. It is included in the UNESCO Intangible Cultural Heritage list. 
Which of the statements given above is/are correct?  
(a)1, 2 and 3 
(b)1 and 3 only 
(c)2 and 3 only 
(d)1 only 
56.​Consider the following statements: 
1. The Eight Core Industries comprise more than 70 per cent of the 
weight of items included in the Index of Industrial Production (IIP). 
2. The Index of Eight Core Industries is compiled and released by 
the Central Statistics Office. 
Which of the statements given above is/are correct? 
(a)1 only 
(b)2 only 
(c)Both 1 and 2 
(d)Neither 1 nor 2 
57.​Consider the following statements: 
1. Satpura range is spread over six states only. 
2. Palghat gap separates Nilgiri hills from Annamalai hills. 
Which of the statements given above is/are correct? 
(a)1 only 
(b)2 only 
(c)Both 1 and 2 
(d)Neither 1 nor 2 
58.​Which of the following constitutes Negative Emission 
Technologies? 

1. Soil carbon sequestration 
2. Ocean alkalinity enhancement 
3. Afforestation 

Select the correct answer using the code given below. 
(a)1 and 2 only 
(b)1 and 3 only 
(c)2 and 3 only 
(d)1, 2 and 3 
59.​With reference to Samagra Shiksha, a recent initiative by the 
government, consider the following statements: 
1. It is an overarching programme for the school education sector 
extending from pre-school to class XII. 
2. Bridging gender and social category gaps is one of the major 
objectives of the scheme. 

(d)मलू क���य तथा मलू अ�धकार 
54.​'यह उ�यान ‘कॉड�मम �ह�स’ के पहाड़ी �े� के म�य म� ि�थत है। प�बा नद� 
का उ�गम इस संर��त �े� से होता है तथा वे�बनाड झील म� �गरती है।' 
उपयु��त �ववरण �न�न�ल�खत म� से �कस रा���य उ�यान से संबं�धत है? 
(a)पे�रयार रा���य उ�यान 
(b)मदुमुलाई रा���य उ�यान 
(c)कु�ेमखु रा���य उ�यान 
(d)�ीसलैम रा���य उ�यान 
55.​स��या के संदभ� म�, �न�न�ल�खत कथन� पर �वचार क�िजए: 
1.यह एक न�ृय एवं ना�य �दश�न है। 
2.इसके �दश�न म� �य�ुत होने वाला एकमा� संगीत वा�ययं� ‘ढोल’ है। 
3.यह यनेू�को क� अमतू� सां�कृ�तक �वरासत सचूी म� सि�म�लत है। 
उपयु��त कथन� म� से कौन-सा/से सह� है/ह�? 
(a)1, 2 और 3 
(b)केवल 1 और 3 
(c)केवल 2 और 3 
(d)केवल 1 
56.​�न�न�ल�खत कथन� पर �वचार क�िजए: 

1. औ�यो�गक उ�पादन सचूकांक (IIP) म� सि�म�लत मद� के कुल भारांश 
क� 70 ��तशत से अ�धक �ह�सेदार� आठ कोर उ�योग� क� है। 

2. आठ कोर उ�योग� के सचूकांक को क� ��य सांि�यक� काया�लय (CSO) 
�वारा संक�लत और जार� �कया जाता है। 

उपयु��त कथन� म� से कौन-सा/से सह� ह�? 
(a)केवल 1 
(b)केवल 2 
(c)1 और 2 दोन� 
(d)न तो 1, न ह� 2 
57.​�न�न�ल�खत कथन� पर �वचार क�िजए: 

1. सतपड़ुा पव�त �ृंखला केवल 6 रा�य� म� �व�ततृ है। 
2. पालघाट दरा� नील�ग�र पहा�ड़य� को अ�नामलाई पहा�ड़य� से पथृक 

करता है। 
उपयु��त कथन� म� से कौन-सा/से सह� है/ह�? 
(a)केवल 1 
(b)केवल 2 
(c)1 और 2 दोन� 
(d)न तो 1, न ह� 2 
58.​�न�न�ल�खत म� से कौन-सी, नकारा�मक उ�सज�न तकनीक� म� सि�म�लत 
ह�? 

1. मदृा काब�न ��छादन (soil carbon sequestration) 
2. सम�ु� �ार�यता व�ृ�ध (ocean alkalinity enhancement) 
3. वनीकरण 

नीचे �दए गए कूट का �योग कर सह� उ�र का चयन क�िजए। 
(a)केवल 1 और 2 
(b)केवल 1 और 3 
(c)केवल 2 और 3 
(d)1, 2 और 3 
59.​सरकार क� एक हा�लया पहल, ‘सम� �श�ा’ के संदभ� म� �न�न�ल�खत कथन� 
पर �वचार क�िजए: 

1. यह �ी-�कूल से लेकर क�ा 12 तक क� �कूल� �श�ा के �लए एक 
�यापक काय��म है। 

2. ल��गक और सामािजक अतंराल� को समा�त करना इस योजना के 
�मखु उ�दे�य� म� से एक है। 

3. रा���य उ�चतर �श�ा अ�भयान (RUSA) को इस योजना के अतंग�त 
सि�म�लत कर �लया गया है। 

उपयु��त कथन� म� से कौन-सा/से सह� है/ह�? 
(a)केवल 1 
(b)केवल 1 और 2 
(c)केवल 2 और 3 
(d)1, 2 और 3 
60.​'इ�यनू चेक �वाइंट थेरेपी' के संबंध म� �न�न�ल�खत कथन� पर �वचार 
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3. Rashtriya Uchchatar Shiksha Abhiyan (RUSA) has been 
subsumed under the scheme.  
Which of the statements given above is/are correct? 
(a)1 only 
(b)1 and 2 only 
(c)2 and 3 only 
(d)1, 2 and 3 
60.​Consider the following statements regarding the ‘Immune 
Checkpoint therapy',: 
1. It is a therapy used for cancer treatment. 
2. It uses nano-robots which range between 0.1-10 micrometers. 
3. It received Nobel Prize in physiology in 2018. 
Which of the statements given above is/are correct? 
(a)1 only 
(b)1 and 3 only 
(c)2 and 3 only 
(d)1, 2 and 3 
61.​Which of the following changes were made in the Constituent 
Assembly by the Indian Independence Act 1947? 
1. The Assembly was made a fully sovereign body and the act 
empowered the Assembly to abrogate or alter any law made by the 
British Parliament in relation to India. 
2. Two separate functions were assigned to the Assembly, that is, 
making of a constitution for free India and enacting of ordinary laws 
for the country. 
Select the code from following: 

(a) 1 only 
(b) 2 only 
(c) Both 1 and 2 
(d) Neither 1 nor 2  

62.​ Which of the following Major Committees was not headed by 
Jawaharlal Nehru? 

(a) Union Powers Committee 
(b) Union Constitution Committee 
(c) Advisory Committee on Fundamental Rights 
(d) States Committee  

63.​Which of the following terms were added to the Preamble by 
44th Constitutional Amendment? 

1. Socialist 
2. Secular 
3. Integrity 

Select the code from following: 
(a) 1 and 2 
(b) 2 and 3 
(c) 1 and 3 
(d) None of the above  

64.​Article 3 of the Constitution authorizes the parliament to form a 
new state by separation of territory from any state or by uniting two 
or more states or parts of states or by uniting any territory to a part 
of any state. Which of the following statements regarding this are 
correct? 
1. A bill contemplating the above changes can be introduced in the 
Parliament only with the prior recommendation of the President. 
2. The President has to refer the bill to the state legislature 
concerned for expressing its views within a specified period. 
3. The president is bound to act according to the recommendation 
of the States concerned in case of change of boundary of the 
State. 
Select the code from following: 

(a) 1 and 2 

क�िजए: 
1. यह क� सर के उपचार हेत ुउपयोग क� जाने वाल� एक �च�क�सा�व�ध 

(therapy) है। 
2. इसम� 0.1 से 10 माइ�ोमीटर तक के आकार वाले ननैो-रोबो�स का 

�योग �कया जाता है। 
3. इसे वष� 2018 म� शर�र �व�ान (physiology) हेत ुनोबेल परु�कार 

�दान �कया गया। 
उपयु��त कथन� म� से कौन-सा/से सह� है/ह�। 
(a)केवल 1 
(b)केवल 1 और 3 
(c)केवल 2 और 3 
(d)1, 2 और 3 
61.​�न�न�ल�खत म� से कौन-से प�रवत�न भारतीय �वतं�ता अ�ध�नयम 1947 
�वारा सं�वधान सभा म� �कए गए थे? 

1. सभा को एक पणू�तया सं�भ ुइकाई बना �दया गया और इस अ�ध�नयम ने 
इस सभा को भारत के संदभ� म� ���टश संसद �वारा बनाए गए �कसी भी 
काननू को समा�त अथवा संशो�धत करने क� शि�त �दान क�। 
2. सभा को दो अलग-अलग काय� �न�द��ट �कए गए अथा�त �वतं� भारत हेत ु
सं�वधान का �नमा�ण और देश के �लए साधारण �वधान� का अ�ध�नयमन। 

�न�न�ल�खत म� से सह� कूट का चयन क�िजए 
(a) केवल 1 
(b) केवल 2 
(c) 1 और 2 दोन� 
(d) न तो 1 न ह� 2  

62.​�न�न�ल�खत म� से कौन-सी �मखु स�म�त क� अ�य�ता जवाहरलाल नेह� ने 
नह�ं क�? 

(a) संघ क� शि�तय� संबंधी स�म�त 
(b) संघीय सं�वधान स�म�त 
(c) मौ�लक अ�धकार� पर परामश� स�म�त 
(d) रा�य स�म�त  

63.​�न�न�ल�खत म� से कौन-से श�द 44व� सं�वधान संशोधन �वारा उ�दे�शका म� 
जोड़ ेगए? 

1. समाजवाद� 
2.  पंथ �नरपे� 
3. अखंडता 

�न�न�ल�खत म� से सह� कूट का चयन क�िजए: 
(a) 1 और 2 
(b) 2 और 3 
(c) 1 और 3 
(d) उपयु��त म� से कोई नह� ं  

64.​सं�वधान का अन�ुछेद 3, संसद को �कसी रा�य से �कसी �े� को पथृ�क कर 
अथवा दो या उससे अ�धक रा�य� अथवा रा�य� के भाग� को जोड़कर अथवा �कसी 
रा�य के �कसी भाग म� कोई �े� जोड़कर नए रा�य के �नमा�ण क� शि�त �दान 
करता है। इस संबंध म� �न�न�ल�खत म� से कौन सा कथन स�य है? 

1. ऐसे �कसी प�रवत�न का ��ताव करने वाला �वधेयक रा��प�त क� पवू� 
अनमु�त के प�चात ह� संसद म� परु:�था�पत �कया जा सकता है। 
2. रा��प�त को यह �वधेयक संबं�धत रा�य �वधानमंडल को �नि�चत 
समयाव�ध म� उसके �वचार ��ततु करने हेत ुसंद�भ�त करना होता है। 
3. रा�य क� सीमा प�रवत�न के मामले म� रा��प�त संबं�धत रा�य के 
�वधानमंडल क� �सफा�रश� मानने के �लए बा�य है। 

�न�न�ल�खत म� से सह� कूट का चयन क�िजए: 
(a) 1 और 2 
(b) 2 और 3 
(c) 1 और 3 
(d) उपयु��त सभी  

65.​�न�न�ल�खत म� से कौन-से अ�धकार सं�वधान �वारा केवल भारतीय 
नाग�रक� को �दान �कए गए ह�? 

1. धम�, मलूवंश, जा�त, �लगं अथवा ज�म�थान के आधार पर �वभेद के 
�व��ध अ�धकार (अन�ुछेद 15)। 
2. लोक �नयोजन म� अवसर क� समता का अ�धकार (अन�ुछेद 16)। 
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(b) 2 and 3 
(c) 1 and 3 
(d) All of the above  

65.​Which of the following rights have been conferred only to Indian 
Citizens by the Constitution? 

1. Right against discrimination on grounds of religion, race, 
caste, sex or place of birth (Article 15). 
2.  Right to equality of opportunity in the matter of public 
employment (Article 16). 
3. Right to freedom of speech and expression, assembly, 
association, movement, residence and profession (Article 19). 
4. Cultural and educational rights (Articles 29 and 30). 

Select the code from following: 
(a) 1,2 and 3 
(b) 2,3 and 4 
(c) 1,3 and 4 
(d) All of the above  

66.​Consider the following statements about ‘E-Way Bill’ System 
1. It offers the technological framework to track intra-state as 
well as inter-state movements of goods under the Goods and 
Services Tax (GST) regime 
2. One e-way bill will be valid throughout the country for the 
movement of goods and it does away with the separate transit 
pass for every state 

Select the correct statements 
(a) 1 Only 
(b) 2 Only 
(c) Both 1 and 2 
(d) Neither 1 nor 2  

67.​Consider the following statements with respect to ‘Alternative 
Investment Funds (AIFs)’ in India 

1. It refers to any privately pooled investment fund from Indian 
sources only 
2. Venture Capital Fund is a type of AIF 
3. They are not taxable under the Income Tax Act 

Select the correct statements 
(a) 1 and 3 
(b) 1 and 2 
(c) 2 Only 
(d) 1, 2 and 3  

68.​‘Vidya Lakshmi Portal’ caters to 
(a) Massive open online course (MOOCs) 
(b) Educational Loans 
(c) Female Education 
(d) PhDs for Minority Women Graduates  

69.​Which of the following is correct about ‘Article 335’ of the Indian 
Constitution’? 
(a) It also allows the president to prolong the life of the Lok Sabha 
one year at time. 
(b)It empowers the central government to make funding allocations 
within the centre-state financial arrangements 
(c)It deals with the Claims of Scheduled Castes and Scheduled 
Tribes to services and posts and the requirement of the state to 
acknowledge the claims of the SCs/STs while ‘making 
appointments to posts and services’. 
(d) It provides the president with powers to declare a state of 
emergency in the nation  
70.​Consider the following statements about ‘Public Financial 
Management System (PFMS)’ 

1. It is a web-based online software application developed and 

3. वाक् व अ�भ�यि�त क� �वतं�ता, स�मेलन, संघ बनाने, संचरण, �नवास 
व �यापार का अ�धकार (अन�ुछेद 19)। 
4. सां�कृ�तक एवं श�ै�क अ�धकार (अन�ुछेद 29 एवं 30)। 

�न�न�ल�खत म� से सह� कूट का चयन क�िजए: 
(a) 1,2 और 3 
(b) 2,3 और 4 
(c) 1,3 और 4 
(d) उपयु��त सभी  

66.​‘ई-वे �बल’ �णाल� के संदभ� म� �न�न�ल�खत कथन� पर �वचार क�िजए। 
1. यह व�त ुएवं सेवा कर (GST) �यव�था के अतंग�त व�तओु ंके 
इं�ा-�टेट(intra-state) के साथ-साथ इं�-�टेट(inter-state) आवागमन को 
�ैक(track) करने संबंधी �ेमवक�  �दान करता है। 
2. एक ह� ई-वे �बल व�तओु ंके देशभर म� आवागमन हेत ुवधै होगा। और यह 
��येक रा�य हेत ुअलग-अलग पार-प�(transit pass) क� आव�यकता को 
समा�त कर देगा। 

सह� कथन का चयन क�िजए 
(a) केवल 1 
(b) केवल 2 
(c) 1 और 2 दोन� 
(d) न तो 1 न ह� 2  

67.​भारत म� ‘वकैि�पक �नवेश कोष�(Alternative Investment Funds)’ के 
संदभ� म� �न�न�ल�खत कथन� पर �वचार क�िजए। 

1. यह �नजी तर�के से एक� ऐसे �नवेश कोष को संद�भ�त करता है िजनका 
��ोत केवल भारतीय है। 
2. व�चर कै�पटल फ�ड वकैि�पक �नवेश कोष का एक �कार है। 
3. ये आयकर अ�ध�नयम के अतंग�त करयो�य नह�ं ह�। 

सह� कथन� का चनुाव क�िजए 
(a) 1 और 3 
(b) 1 और 2 
(c) केवल 2 
(d) 1, 2 और 3  

68.​‘�व�या ल�मी पोट�ल’ आव�यकता क� प�ूत � करता है- 
(a) म�ैसव ओपन ऑनलाइन कोस� (MOOCs) क� 
(b) �श�ा ऋण� क� 
(c) म�हला �श�ा क� 
(d) अ�पसं�यक म�हला �नातक� हेत ुपीएचडी क�  

69.​भारतीय सं�वधान के ‘अन�ुछेद 335’ के संदभ� म� �न�न�ल�खत म� से कौन-सा 
सह� है? 
(a) यह रा��प�त को भी लोक सभा क� अव�ध एक बार म� एक वष� तक बढाने क� 
अनमु�त �दान करता है। 
(b) यह क� � सरकार को क� �-रा�य �व�ीय �यव�थाओ ंके भीतर कोष आवंटन� क� 
शि�त �दान करता है। 
(c)यह अनसु�ूचत जा�तय� एवं अनसु�ूचत जनजा�तय� के सेवाओ ंऔर पद� पर 
दाव� तथा रा�य �वारा ‘पद� और सेवाओ ंपर �नयिु�त करत ेसमय’ अनसु�ूचत 
जा�तय� एवं अनसु�ूचत जनजा�तय� के दाव� को मा�यता देने क� आव�यकता से 
संबं�धत है। 
(d) यह रा��प�त को देश म� आपाति�थ�त क� घोषणा करने क� शि�त �दान 
करता है।  
70.​पि�लक फाइन��सयल मनेैजम�ट �स�टम (PFMS)’ के संदभ� म� �न�न�ल�खत 
कथन� पर �वचार क�िजए। 
1. यह एक वेब-आधा�रत ऑनलाइन सॉ�टवेर ए�ल�केशन है जो महालेखा 
�नयं�क (CGA) के काया�लय �वारा �वक�सत और ��याि�वत क� गई है। 
2. PFMS कवरेज के दायरे म� क� ��य �े�क और क� � �ायोिजत योजानाओ ंके 
साथ-साथ �व� आयोग के अनदुान� स�हत अ�य �यय भी शा�मल ह�। 
3. PFMS का �योग भारत सरकार क� सभी क� ��य �े�क योजनाओ ंहेत ु
आव�यक है। 
सह� कथन� का चनुाव क�िजए 

(a) 1 और 2 
(b) 2 और 3 
(c) 1 और 3 
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implemented by the Office of Controller General of Accounts 
(CGA) 
2. The ambit of PFMS coverage includes Central Sector and 
Centrally Sponsored Schemes as well as other expenditures 
including the Finance Commission Grants 
3. Use of PFMS is mandatory for all the Central Sector Schemes 
of the Government of India 

Select the correct statements 
(a) 1 and 2 
(b) 2 and 3 
(c) 1 and 3 
(d) All of the above  

71.​Consider the following statements about ‘Jal Marg Vikas Project 
(JMVP)’ 

1. It is being executed on Brahmaputra-Barak river systems to 
connect northeast to the rest of India 
2. World Bank is providing the technical and investment support 
for the implementation of the project 

Select the correct statements 
(a) 1 Only 
(b) 2 Only 
(c) Both 1 and 2 
(d) Neither 1 nor 2  

72.​ ‘RISECREEK’ was in recently in news. What is it? 
(a) A newly developed microprocessor 
(b) A new technology to tackle coral bleaching 
(c) A newly formed island Hvar, Croatia 
(d) A supersonic airplane developed by China  

73.​Consider the following statements with respect to ‘Indian star 
tortoises’ 

1. It is listed as ‘Critically Endangered’ in the red list of 
endangered species of the IUCN 
2. It is endemic to Western Ghats Only 
3. It is liable for confiscation under the Customs Act, 1962 

Select the correct statements 
(a) 1 and 3 
(b) 2 and 3 
(c) 3 Only 
(d) 2 and 3  

74.​What is ‘Starry Sky-2’, recently in the news? 
(a) Electric plane tested by NASA 
(b) Hypersonic flight vehicle developed by China 
(c) Solar-powered two-seater aircraft designed by Japan 
(d) Space observatory launched by China  

75.​The ‘8888 Uprising’ is associated with 
(a) Democratic Republic of Congo 
(b) Myanmar 
(c) Tunisia 
(d) Sudan  

76.​Consider the following statements about ‘Lisbon Treaty’ 
1. It introduced the European Economic Community (EEC) 
2. It paved the way for the euro, the common currency 
3. It established the Court of Justice of the European Union 

Select the correct statements 
(a) 1 and 2 
(b) 1 and 3 
(c) 3 Only 
(d) None of the above  

77.​Which of the following India State shares its border with 
‘Rakhine province’ of Myanmar? 

(d) उपयु��त सभी  
71.​‘जल माग� �वकास प�रयोजना (JMVP)’ के संदभ� म� �न�न�ल�खत कथन� पर 
�वचार क�िजए। 

1. यह पवू��र को शषे भारत से जोड़ने के उ�दे�य से ��मप�ु-बराक नद� तं� 
पर ��याि�वत क� जा रह� है। 
2. �व�व ब�क इस प�रयोजना के काया��वयन हेत ुतकनीक� और �नवेश 
सहायता �दान कर रहा है। 

सह� कथन का चयन क�िजए 
(a) केवल 1 
(b) केवल 2 
(c) 1 और 2 दोन� 
(d) न तो 1 न ह� 2  

72.​‘राइज��क(RISECREEK)’ हाल ह� म� स�ुख़�य� म� था। यह �या है? 
(a) नव �वक�सत माइ�ो�ोसेसर 
(b) �वाल �वरंजन से �नपटने हेत ुएक नई �ौ�यो�गक� 
(c) �ोए�शया के हवार म� नव�न�म�त �वीप। 
(d) चीन �वारा �वक�सत एक सपुरसो�नक हवाई जहाज  

73.​‘भारतीय �टार कछुए(Indian star tortoises)’ के संदभ� म� �न�न�ल�खत 
कथन� पर �वचार क�िजए। 
1. यह IUCN क� संकट��त �जा�तय� क� लाल सचूी म� ‘गंभीर �प से 
संकट��त’ के �प म� सचूीब�ध है। 
2. यह केवल पि�चमी घाट म� �था�नक है। 
3. सीमा श�ुक अ�ध�नयम, 1962 के अतंग�त इसक� ज�ती क� जा सकती है। 
सह� कथन� का चनुाव क�िजए 

(a) 1 और 3 
(b) 2 और 3 
(c) केवल 3 
(d) 2 और 3  

74.​हाल ह� म� स�ुख़�य� म� रहा ‘�टारर� �काई-2(Starry Sky-2)’ �या है? 
(a) नासा �वारा पर��ण �कया गया इलेि��क �लेन 
(b) चीन �वारा �वक�सत हाइपरसो�नक �लाइट �ह�कल 
(c) जापान �वारा �डज़ाइन �कया गया सौर-उजा� से चा�लत दो सीट� वाला �वमान 
(d) चीन �वारा ��े�पत अतं�र� वेधशाला  
75.​‘8888 अपराइिजंग’ संबं�धत है- 

(a) डमेो�े�टक �रपि�लक ऑफ़ कांगो से 
(b) �यांमार से 
(c) �यनूी�शया से 
(d) सडूान से  

76.​‘�ल�बन सं�ध’ के संदभ� म� �न�न�ल�खत कथन� पर �वचार क�िजए। 
1. इसने यरूोपीय आ�थ�क समदुाय (EEC) क� श�ुआत क�। 
2. इसने साझी म�ुा यरूो के �लए माग� �श�त �कया। 
3. इसने यरूोपीय संघ के कोट� ऑफ़ जि�टस क� �थापना क�। 

सह� कथन� का चनुाव क�िजए 
(a) 1 और 2 
(b) 1 और 3 
(c) केवल 3 
(d) उपरो�त म� से कोई नह� ं  

77.​�न�न�ल�खत म� से कौन-से भारतीय रा�य क� सीमा �यांमार के ‘र�खन �ांत’ 
के साथ लगती है? 

(a) नगाल�ड 
(b) म�णपरु 
(c) �मजोरम 
(d) उपरो�त म� से कोई नह� ं  

78.​�न�न�ल�खत म� से कौन से देश ‘प�ैस�फक �रगं ऑफ़ फायर’ �े� म� ह�? 
1. कनाडा 
2. �यज़ूील�ैड 
3. जापान 
4. �चल� 

सह� कूट का चयन क�िजए 
(a) 1, 2 और 3 
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(a) Nagaland 
(b) Manipur 
(c) Mizoram 
(d) None of the above  

78.​The ‘Pacific Ring of Fire’ wraps which of the following 
countries? 

1. Canada 
2. New Zealand 
3. Japan 
4. Chile 

Select the correct cod: 
(a) 1, 2 and 3 
(b) 2, 3 and 4 
(c) 1, 3 and 4 
(d) All of the above  

79.​Consider the following statements about ‘Scrub Typhus’ 
1. It is found only in the tropical regions 
2. It is transmitted through mites 
3. It is one of the causes for acute encephalitis syndrome 

Select the correct statements 
(a) 1 and 2 
(b) 2 and 3 
(c) 1 and 3 
(d) All of the above  

80.​UMANG app is associated with 
(a) Citizen engagement platform for direct citizen participation in 
governance 
(b) Access to the pan-India e-Gov services from the Central, State, 
Local Bodies, and Agencies of government 
(c) Online filing of Income Tax Returns 
(d) Pilgrimage and Tourism  
81.​Consider the following statements about ‘Pradhan Mantri 
Suraksha Bima Yojana (PMSBY)’ 

1. It is available to people between 18 and 50 years of age with 
bank accounts 
2. It is a pure term insurance policy which covers only mortality 

Select the correct statements 
(a) 1 Only 
(b) 2 Only 
(c) Both 1 and 2 
(d) Neither 1 nor 2  

82.​Under the Foreigners (Restricted Areas) Order, 1963 Restricted 
Area Permit (RAP) is required to visit which of the following states? 

1. Jammu and Kashmir 
2. Nagaland 
3. Manipur 

Select the correct code: 
(a) 1 Only 
(b) 2 and 3 
(c) All of the above 
(d) None of the above  

83.​‘Spodoptera frugiperda’ was in news recently. What is it? 
(a) An invasive thorny shrub 
(b) An invasive agricultural pest 
(c) A flower which is used in cosmetics 
(d) None of the above  

84.​Consider the following statements about Strategic Trade 
Authorization (STA) 

1. It allows a controlled item to be exported under defined 
conditions without a transaction-specific license. 

(b) 2, 3 और 4 
(c) 1, 3 और 4 
(d) उपयु��त सभी  

79.​‘��ब टाईफस(Scrub Typhus)’ के संदभ� म� �न�न�ल�खत कथन� पर �वचार 
क�िजए। 

1. यह केवल उ�णक�टबंधीय �े�� म� पाया जाता है 
2. यह घनु(mites) के मा�यम से संचा�रत होता है 
3. यह गंभीर इ�सेफेलाइ�टस �स�ंोम के कारण� म� से एक है 

सह� कथन� का चनुाव क�िजए 
(a) 1 और 2 
(b) 2 और 3 
(c) 1 और 3 
(d) उपयु��त सभी  

80.​उमंग ए�प संबं�धत है 
(a) अ�भशासन म� ��य� नाग�रक भागीदार� हेत ुनाग�रक भागीदार� मंच 
(b) क� �, रा�य, �थानीय �नकाय और सरकार क� एज��सय� क� ई-सेवाओ ंतक 
अ�खल भारतीय पहँुच 
(c) आयकर �रट�स� क� ऑनलाइन फाय�लगं 
(d) तीथ�या�ा व पय�टन  
81.​‘�धानमं�ी सरु�ा बीमा योजना (PMSBY)’ के संदभ� म� �न�न�ल�खत कथन� 
पर �वचार क�िजए। 

1. यह 18 से 50 वष� आय ुके उन लोग� के �लए उपल�ध है िजनके ब�क� म� 
खात ेह�। 
2. यह �वश�ुध �प से एक टम� बीमा पॉ�लसी है जो केवल म�ृय ुको कवर 
करती है। 

सह� कथन का चयन क�िजए 
(a) केवल 1 
(b) केवल 2 
(c) 1 और 2 दोन� 
(d) न तो 1 न ह� 2  

82.​�वदेशी (��तबं�धत �े�) आदेश, 1963 के अतंग�त �न�न�ल�खत म� से कौन-से 
रा�य� क� या�ा हेत ु��तबं�धत �े� पर�मट (RAP) क� आव�यकता होती है? 

1. ज�म ूव क�मीर 
2. नगाल�ड 
3. म�णपरु 

सह� कथन का चयन क�िजए 
(a) केवल 1 
(b) 2 और 3 
(c) उपयु��त सभी 
(d) उपरो�त म� से कोई नह� ं  

83.​‘�पोडो�टेरा �ूगेपरडा(Spodoptera frugiperda)’ हाल ह� म� स�ुख़�य� म� था। 
यह �या है? 

(a) एक आ�ामक कांटेदार झाड़ी 
(b) एक आ�ामक कृ�ष क�ट 
(c) स�दय� �साधन म� �योग �कया जाना एक प�ुप 
(d) उपरो�त म� से कोई नह� ं  

84.​��ेटेिजक �ेड ऑथ�रज़ेशन (STA) के संदभ� म� �न�न�ल�खत कथन� पर 
�वचार क�िजए। 

1. यह प�रभा�षत प�रि�थ�तय� के अतंग�त एक �नयं��त मद के �कसी 
�व�श�ट लेनदेन को लाइस�स के �बना �नया�त क� अनमु�त �दान करता है। 
2. भारत अकेला देश है िजसे अमे�रका �वारा ��ेटेिजक �ेड ऑथ�रज़ेशन-1 
(STA-1) का दजा� �दान �कया गया है। 

सह� कथन का चयन क�िजए 
(a) केवल 1 
(b) केवल 2 
(c) 1 और 2 दोन� 
(d) न तो 1 न ह� 2  

85.​‘�नया�त �म�’ के बारे म� �न�न�ल�खत कथन� पर �वचार क�िजए। 
1. यह अतंरा����य �यापार करने हेत ुआव�यक �यापक सचूना �दान करता है। 
2. फेडरेशन ऑफ़ इं�डयन ए�सपोट� ऑग�नाइजेशन (FIEO) �वारा इसे 
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2. India is only Asian country to be granted the Strategic Trade 
Authorisation-1 (STA-1) status by the US. 

Select the correct statement 
(a) 1 Only 
(b) 2 Only 
(c) Both 1 and 2 
(d) Neither 1 nor 2  

85.​Consider the following statements about ‘Niryat Mitra’ 
1. It provides wide range of information required to undertake 
international trade 
2. It is developed by the Federation of Indian Export 
Organisations (FIEO) 
3. It works internally to map the ITC HS code of other countries 
with that of India 

Select the correct code: 
(a) 1 and 2 
(b) 2 and 3 
(c) 1 and 3 
(d) All of the above  

86.​Which of the following is a ‘UNESCO World Heritage Mixed 
Site’? 

(a) Khangchendzonga National Park 
(b) Ajanta Caves 
(c) Rock Shelters of Bhimbetka 
(d) Manas Wildlife Sanctuary  

87.​‘Red Corner Notice’ is concerned with which of the following 
statements? 
(a)To provide warnings and intelligence about persons who have 
committed criminal offences and are likely to repeat these crimes in 
other countries 
(b)To collect additional information about a person’s identity, 
location or activities in relation to a crime 
(c)To seek or provide information on modus operandi, objects, 
devices and concealment methods used by criminals 
(d)To seek the location and arrest of wanted persons with a view to 
extradition or similar lawful action  
88.​Joint Comprehensive Plan of Action refers to which of the 
following 

(a) The Chilcot Report 
(b) India-Iran Nuclear Deal 
(c) The Heart of Asia - Istanbul Process 
(d) None of the above  

89.​Which of the following schedules contains provisions for 
Anti-Defection? 

(a) Eighth 
(b) Tenth 
(c) Sixth 
(d) Ninth  

90.​‘Portuguese man-of-war’ was recently in news. It is associated 
with 

(a) Blockchain Technology 
(b) Algorithm Trading 
(c) Artificial Intelligence 
(d) None of the above 

91.​Which of the following statements is/are correct about the tenets 
of Sufism? 
1. It had its origin in India and spread into West Asia in the 
eleventh century.  
2. It stressed the elements of love and devotion as effective means 
for the realisation of God. 

�वक�सत �कया गया है। 
3. यह भारत के सापे� अ�य देश� के ITC HS कोड के मान�च�ण हेत ु
आतं�रक �प से काय� करता है। 

सह� कथन� का चनुाव क�िजए 
(a) 1 और 2 
(b) 2 और 3 
(c) 1 और 3 
(d) उपयु��त सभी  

86.​�न�न�ल�खत म� से कौन-सा एक ‘यनेू�क� �व�व �वरासत �म��त �थल’ है? 
(a) कंचनजंघा रा���य पाक�  
(b) अजंता गुफाएं 
(c) भीमबेटका के शलैा�य 
(d) मानस व�यजीव अ�यारण  

87.​‘रेड कान�र नो�टस’ �न�न�ल�खत म� से कौन-से कथन से संबं�धत है? 
(a)उन �यि�तय� के बारे म� चेतावनी और ख़�ुफ़या सचूना �दान करना िज�ह�ने 
आपरा�धक कृ�य� को अजंाम �दया है तथा उनके �वारा इन अपराध� के अ�य 
देश� म� दोहराए जाने क� आशंका है। 
(b) एक अपराध के संबंध म� �कसी �यि�त क� पहचान, �थान अथवा ग�त�व�ध 
के बारे म� अ�त�र�त सचूना जटुाना। 
(c)अपरा�धय� �वारा अपराध करने के ढंग, उन �वारा �य�ुत व�तओु,ं उपकरण� 
और �छपाने क� �व�धय� संबंधी सचूना माँगना अथवा �दान करना । 
(d) ��यप�ण अथवा ऐसी ह� �कसी �व�धक काय�वाह� हेत ुवां�छत �यि�तय� क� 
अवि�थ�त और �गर�तार� चाहना।  
88.​�न�न�ल�खत म� से जॉइंट काि��हेि�सव �लान ऑफ़ ए�शन को संद�भ�त 
करता है- 

(a) �च�कोट �रपोट� 
(b) भारत-ईरान परमाण ुसमझौता 
(c) द हाट� ऑफ़ ए�शया-इ�तांबलु ���या 
(d) उपरो�त म� से कोई नह� ं  

89.​�न�न�ल�खत म� से कौन सी अनसुचूी म� दल-बदल �वरोधी �ावधान ह�? 
(a) आठवीं 
(b) दसवी ं
(c) छठ� 
(d) नौवी ं  

90.​‘पो��यगुीज़ मनै-ऑफ़-वार(Portuguese man-of-war)’ हाल म� स�ुख़�य� म� 
था। यह संबं�धत है- 

(a) �लॉकचनै �ौ�यो�गक� 
(b) अ�गो�रथम �े�डगं 
(c) आ�ट�फ��सयल इंटे�लज�स 
(d) उपरो�त म� से कोई नह� ं  

91.​सफू�वाद के �स�धांत� के संबंध म�, �न�न�ल�खत कथन� म� से कौन-सा/से 
सह� है/ह�? 

1. इसक� उ�प�� भारत म� हुई तथा �यारहवीं शता�द� म� इसका �सार 
पि�चम ए�शया म� हुआ। 

2. इसने ई�वर क� अनभु�ूत हेत ु�भावशाल� साधन� के �प म� �ेम और 
भि�त पर बल �दया। 

3. इसके अनसुार आ�याि�मक �वकास हेत ुएक गु� का माग�दश�न 
आव�यक है। 

नीचे �दए गए कूट का �योग कर सह� उ�र च�ुनए। 
(a)केवल 1 
(b)केवल 2 और 3 
(c)केवल 1 और 3 
(d)1, 2 और 3 
92.​सचूना का अ�धकार अ�ध�नयम, 2005 क� दसूर� अनसुचूी के अतंग�त 
�न�न�ल�खत म� से �कन संगठन� को छूट �दान क� गई है? 

1. र�ा अनसुंधान एवं �वकास संगठन (DRDO) 
2. �वापक �नयं�ण �यरूो (NCB) 
3. रा���य सरु�ा गाड� (NSG) 
4. भारतीय �रजव� ब�क (RBI) 

नीचे �दए गए कूट का �योग कर सह� उ�र च�ुनए। 
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3. Guidance from a teacher is necessary for spiritual development. 
Select the correct answer using the code given below. 
(a)1 only 
(b)2 and 3 only 
(c)1 and 3 only 
(d)1, 2 and 3  
92.​Which among the following organizations are exempted under 
the Second Schedule of Right to Information Act, 2005 ? 
1. Defence Research and Development Organization (DRDO) 
2. Narcotics Control Bureau 
3. National Security Guard 
4. Reserve Bank of India 
Select the correct answer using the code given below.  
(a)2, 3 and 4 only 
(b)1 and 4 only 
(c)1, 3 and 4 only 
(d)1, 2 and 3 only 
93.​Which of following statements is/are ​NOT ​correct about the 
No-confidence motion? 
1. No confidence motion can only be passed against the Council of 
Ministers and not against the individual minister. 
2. No-confidence motion is mentioned in Rules of conduct of Lok 
sabha as well as Rajya Sabha. 
3. A Motion of No-confidence need not set out grounds on which it 
is based. 
Select the correct answer using the code given below. 
(a)1 and 2 only 
(b)2 only 
(c)2 and 3 only 
(d)3 only 
94.​Which of the following statements is/are correct with respect to 
Contingency fund of India? 
1. The Constitution provides for its establishment through an Act of 
Parliament. 
2. All the loans obtained by the Government of India from foreign 
governments and international institutions are credited into this 
fund. 
3. It is held by the Secretary to Ministry of Finance, Government of 
India on behalf of the President. 
Select the correct answer using the code given below. 
(a)1 and 2 only 
(b)1, 2 and 3 
(c)1 and 3 only 
(d)3 only 
95.​Consider the following statements regarding National 
Integration Council: 

1. It is chaired by the President with Prime Minister as the 
Vice-Chairman. 

2. The National Foundation for Communal Harmony acts as 
a secretariat of the council. 

3. Its objectives include promoting unity in diversity, 
inclusiveness and equal rights for all. 

Which of the statements given above is/are correct? 
(a)1 and 2 only 
(b)2 and 3 only 
(c)3 only 
(d)1, 2 and 3 
96.​Recently India has been elected as a Member of the 
International Telecommunication Union (ITU) Council for another 4- 
year term (2019-2022). Consider the following statements 

(a)केवल 2, 3 और 4 
(b)केवल 1 और 4 
(c)केवल 1, 3 और 4 
(d)केवल 1, 2 और 3 
93.​अ�व�वास ��ताव के संबंध म�, �न�न�ल�खत कथन� म� से कौन-सा/से सह� 
नह�ं  है/ह�? 

1. अ�व�वास ��ताव को केवल मं��प�रषद के �व��ध ह� पा�रत �कया जा 
सकता है, �कसी मं�ी �वशषे के �व��ध नह�ं। 

2. लोक सभा और साथ ह� रा�य सभा के काय�-संचालन �न यम� म� 
अ�व�वास ��ताव का उ�लेख �कया गया है। 

3. अ�व � वास �� ताव हेत ुउसके कारण� का उ�लेख करने क� आव�यकता 
नह�ं है। 

नीचे �दए गए कूट का �योग कर सह� उ�र च�ुनए। 
(a)केवल 1, 2  
(b)केवल 2 
(c)केवल 2 और 3 
(d)केवल 3 
94.​भारत क� आकि�मकता �न�ध के संदभ� म�, �न�न�ल�खत कथन� म� से 
कौन-सा/से सह� है/ह�? 

1. सं�वधान, संसद के अ�ध�नयम �वारा इसक� �थापना का �ावधान 
करता है। 

2. भारत सरकार �वारा �वदेशी सरकार� एवं अतंररा���य सं�थान� से 
�ा�त ऋण� को इस �न�ध म� जमा �कया जाता है। 

3. यह �न�ध रा��प�त क� ओर से �व� स�चव (भारत सरकार) के अधीन 
रहती है। 

नीचे �दए गए कूट का �योग कर सह� उ�र च�ुनए। 
(a)केवल 1 और 2 
(b)1, 2 और 3 
(c)केवल 1 और 3 
(d)केवल 3 
95.​रा���य एकता प�रषद के संदभ� म�, �न�न�ल�खत कथन� पर �वचार क�िजए: 

1. इसक� अ�य�ता रा��प�त �वारा क� जाती है और इसका उपा�य� 
�धानमं�ी होता है। 

2. रा���य सा��दा�यक स�भाव ��त�ठान इस प�रषद के स�चवालय के 
�प म� काय� करता है। 

3. इसके उ�दे�य� म� �व�वधता म� एकता, समावे�शता और सभी के �लए 
समान अ�धकार� को �ो�सा�हत करना सि�म�लत ह�। 

उपयु��त कथन� म� से कौन-सा/से सह� है/ह�?  
(a)केवल 1 और 2  
(b)केवल 2 और 3 
(c)केवल 3 
(d)1, 2 और 3 
96.​हाल ह� म� भारत को अगले 4 वष� क� अव�ध (2019-2022) के �लए पनुः 
अतंररा���य दरूसंचार संघ (ITU) प�रषद का सद�य चनुा गया है। ITU के बारे म� 
�न�न�ल�खत कथन� पर �वचार क�िजए: 
1.यह संय�ुत रा�� क� एक �व�श�ट एज�सी है। 
2.भारत इसके सं�थापक सद�य� म� से एक है। 
3.यह IP ए�से �पेस एलोकेशन और डोमेन नेम �स�टम मनेैजम�ट के �लए 
उ�रदायी है। 
उपयु��त कथन� म� से कौन-सा/से सह� है/ह�? 
(a)केवल 1 और 2 
(b)केवल 1 
(c)केवल 2 और 3 
(d)1, 2 और 3 
97.​अथ�शा�� के �े� म�, ‘पे�रस �लब’ पद का �योग �कया जाता है: 
(a)सभी जी-7 रा��� के क� ��य ब�क� के समहू के �लए। 
(b)ऋणदाता रा��� के एक अनौपचा�रक समहू के �लए, िजसका उ�दे�य ऋणी 
रा��� के सम� आने वाल� भगुतान संबंधी सम�याओ ंके �लए �यावहा�रक 
समाधान� क� खोज करना है। 
(c)WTO म� ‘�सगंापरु म�ुद�’ के शी� काया��वयन क� मांग करने वाले रा��� के 

KUMAR’S IAS AGRA,  
Contact Number​:+91-7078888888, Mail I’d :kumariasacademy@gmail.com 



IAS                         ​KUMAR’S IAS​                       ​PCS 

regarding ITU: 
1. It is a specialized agency of the United Nations. 
2. India is one of its founding members. 
3. It is responsible for IP address space allocation and domain 
name system management. 
Which of the statements given above is/are correct? 
(a)1 and 2 only 
(b)1 only 
(c)2 and 3 only 
(d)1, 2 and 3 
97.​In the field of Economics, term Paris Club is used for 
(a)a group of Central banks of all the G7 nations. 
(b)an informal group of creditor nations whose objective is to find 
workable solutions to payment problems faced by debtor nations. 
(c)an informal group of nations which demand for the early 
implementation of Singapore issues at WTO. 
(d)a group of all the nations whose currencies form the part of 
Special Drawing Rights (SDR) at IMF. 
98.​Consider the following statements about the ordinance making 
power of the Governor: 
1. He can promulgate the ordinance only with the prior permission 
of the President. 
2. It is laid down in Article 123 of the Indian Constitution. 
Which of the statements given above is/are correct? 
(a)1 only 
(b)2 only 
(c)Both 1 and 2 
(d)Neither 1 nor 2 
99.​Which among the following events happened earliest? 
(a)Vithalbhai Patel was elected speaker of Central Legislative 
Assembly. 
(b)Satyendra Sinha was appointed to the viceroy's executive 
council. 
(c)Rabindranath Tagore renounced his knighthood. 
(d) Congress Session was presided over Mahatma Gandhi​. 
100.​Which of the following best describes Leachate, a term 
sometimes seen in news? 
(a)It is a complex mix of gases created by action of 
microorganisms within a landfill. 
(b)It is the extraction of specific metals from their ores through the 
use of bacteria and fungi. 
(c)It is a contaminated liquid emanating from the bottom of the solid 
waste such as landfills. 
(d)It is the category of soft muscular animals which have blood 
suckers at both ends. 

एक अनौपचा�रक समहू के �लए। 
(d)उन सभी देश� के एक समहू के �लए, िजनक� म�ुाएँ IMF म� �वशषे आहरण 
अ�धकार (SDR) का भाग ह�। 
98.​रा�यपाल क� अ�यादेश जार� करने क� शि�त के संबंध म�, �न�न�ल�खत 
कथन� पर �वचार क�िजए: 

1. वह केवल रा��प�त क� पवू� अनमु�त से ह� अ�यादेश जार� कर सकता 
है। 

2. इसका �ावधान भारत के सं�वधान के अन�ुछेद 123 म� �कया गया है। 
उपयु��त कथन� म� से कौन-सा/से सह� है/ह�?  
(a)केवल 1 
(b)केवल 2 
(c)1 और 2 दोन� 
(d)न तो 1, न ह� 2 
99.​�न�न�ल�खत घटनाओ ंम� से कौन-सी सबसे पहले घ�टत हुई थी? 
(a)�व�ठलभाई पटेल के���य �वधान सभा के अ�य� �नवा��चत �कए गए। 
(b)स�ये�� �स�हा को वायसराय क� काय�कार� प�रषद म� �नय�ुत �कया गया। 
(c)रबीं�नाथ टैगोर ने अपनी नाइटहुड क� उपा�ध �याग द�।  
(d)महा�मा गांधी �वारा कां�ेस अ�धवेशन क� अ�य�ता क� गई। 
100.​कभी-कभी स�ुख़�य� म� रहने वाले पद ‘�न�ा�लतक (Leachate)’ का सव��े�ठ 
वण�न �न�न�ल�खत म� से कौन-सा है? 
(a)यह �कसी ल�ड�फल म� स�ूमजीव� क� ��या से उ�पा�दत �व�भ�न गैस� का एक 
ज�टल �म�ण है।  
(b)यह ब�ैट��रया और कवक के उपयोग के मा�यम से अय�क� से कुछ �व�श�ट 
धातओु ंका �न�कष�ण है।  
(c)यह ल�ड�फल जसेै ठोस अप�श�ट� के तल से �ा�वत होने वाला संद�ूषत �व है। 
(d)यह कोमल मांसल जीव� क� एक �ेणी है िजनके दोन� �सर� पर र�त चषूक 
होत ेह�। 
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